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PRACTICE EXAMPLES

Q.1 Y afruit seller cello 40%.0f

Left ‘x.ua‘h' a80 applea. How

maryy apples had he

Sal.,ojulgx/naﬂg? #TTL'LJ&-L
Rassc - Lek totol mo. s wpples @re X Evenythin 8 405/ in ibsely
Solley Salls = XX HO vapples |46 mja)wxﬁauo‘/.avn
Remeinim ,O,H,m,";’( o xuo |2 with vy 6o/,
a B 10606 Lo'/ = Udo
Jo0 X ~HoX = ygo (Griven Lnofuestisg INEER
oo 100/ = 8o0
Cox = 480 oo/
Jo00
X = 800 e .

Q. 2 A hook seller has total e300 booka and he aells

vo%-of all.

rwwmwmgbaakawzzﬂdmaa&d?

sod:

{66y, = 6£3b0
1°/1 = 63 .
He 18 st J?,e,b{' ustbh %bd CLDO‘/, - qd/) =10/
Ao ioy = (30
Q.3 ymﬁwmwp;amwoyumm@ 8/3% he
geta 72 auupee ATONR. Hia mmomthly calary Lo?
sal: ‘ # Twlck:
AM "a’ﬁw’ WWMMXXOOHE&O ANCALaLe In NuUumbey -
=xxses %) B/ =32
300 3"
Diffevente = (X x 308 - K) -39 1Y, = 2%
500 fo0"/ = 97300
—"
360
- U = 2#00{
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a. 4 The populatiom of touwm 4m 2019 Lo 2100. vn the meoct gear L
imcreaoes by 21% what is the imcreased populatiom of

willage im 20207 #M‘.
saol:
oo ~ Tmihal Tmoaeased Value
Terased Value = Lmikiol Vodue %@0 tInces) o0 194
leo
— 9160 x 2) lxl‘ x2!
joo J
= 2541 9 100 2541

G.symﬂumwmﬁp{mpact&ommmmwaedby 20%
denomimator ia decreased by 5%, the nalue of the mew

{/mcﬂomjzﬂ:om&a % WMMWQMWWA‘,&O/J’!?
sol: ot the me, 18 X

so) wk(ioee) Uk de

00
| To™d
x [ 1b0-5 x4as
Jd (—”‘3‘6'> Jd % =595 98
5 XxXlze =5 D gy us
Yxas 2 Jd 2

Q. 6 whem a mumbenr ia imcreabded by 24, it hecommes 104% Of
M,WMWW?

sots b Tk
@Q'ﬂ%d Natmbey 8 K E\mﬂ . I Y im kasty
T a+au = Lou XX Ao dncate 18 1/,
o0 b/ =24
9y= 164 - X i‘/,:é
joo
24 = WX fo5/, = 6°°
{00
x = boo
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Q.7 546 what percent al 257
sod: i
= 5 xioe = 20/

Q.loywmp{ihz/nactiommmby 35y and
demomimator ia also imcreased by 20% the value of the
/n.e,wpw,ctiomb,zca/n'wa%. whatmz‘/m,oxz,igifrwl{/z,ac&bm?

sol: 43

Q. 1l when 4 muwmber is imcreased by 39, i becomnes 113% 0f

Atoelf. what Lo the ruvmbenr?
sol: 300

Q. 12 when 40 ia subtracted from 4o% of a muvmber, the Lo 8o.
The muwimbenr io?
sod: 300

INCREASE/DECREASE TO DECREASED/ INCREASED NO:

Q. 13 if AL imcomme L& 2s5% Less tham B, how mmuuch percend Bl
income mmosre than that of A?

soli } ot By Imesme X # Touck
Ao A's Lnweeme = ?_L_%ﬁ,? A's Income B'.s Income
(o] m
86 boreert imehtate in B income . L
= - AXHd5 \/—/
—Tos X 400 = 25 x 100
WX TS5 75
_ 100 L/ R,
=22 xieo =333 = s
ESEs
160
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sal:
Price Quants /Camw n
1) =257
160 \/. :_j_—__CT\) q C)
' i’k%t!;&iﬂmm%vdwmmh\me,wi%mbwm

‘ e shett driel

g““‘ﬁi;,;m A)—3 bk —"Numeyater (\\,)

’Dt::;rm‘mv ( aud 7 "Nutmeratey + Densyminder

N umevaley Cq,)——) then ——5 N umevater )

ny' inoter DQﬂGYEW‘NUN%m
g%mfléﬁngmo ,a/z.e,da/ng.lz,éaj/rwwaaed 60% themn

- mwiﬁomquwmmmw
nremaimb the .bame?

sol:  Length Breadth.
Lo/ =6 A 6 = ¢ \=3%5/
Lo lo+e L6

Q. 16 A uurmber ib imcreased by Y%, to get hack to the origimal
swmbenr, it Lo to ke rediced by®

sali vy = Y (1) =Y /()

oo joot

the radius of the cylindenr Lo decreased by 4o% them by
G.sz/w.t,p,mczmtft/z.e holght of that ahould be imcreassd 4o
chunmed surface area remaim the same?

sal: 66 %
. 18 TAe Price of wdime Lo imcreaned by 25%. Y the

ia mot allowed to imcrease for a duwnkard, by what
Wwwmmmmmtptiom?
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RESULTANT CHANGE IN:

Q.19 salary of a persom is firet imcreansed by 10% them iU i
agaim imcreased by 10% them the percentage chamnge im hia
walary io?

= Tyiek !
Lex s 100

Nae #muh vﬁufen An the
Hhen %ir&b Imeagase = |00 X_‘_l_"_ =1lo Antveduchim ?ML M&hﬁd

sod:

100 =n+y Tt fd
Aecomd Onartase= 110X 116 - g To0
|bo = Jo +lo 4+ |oXl0
/Cl\one:(m»\oo X loo = 21", oo
a o6 ) =217,

Q.20The Piice 0, Lo Amcreased 20% .and Aito
comawrnpltiom Lo decreased by 10% then what Lo the met
affect om the eocpendiune?

sod:
-F X ¥ *d ‘I’_j_
oo
= "—20‘/ "'D\/' 3 9—0‘/ x-—j_(‘)‘/_
loo
= 16/ -2

= 87_ Anirease
Q. 21 The Price of am article La firok decreased by 20%.and then
imereaned by 30%. Y the reaudiling price Lo RE 416, The
origimal P/ucz.o{ﬂwa/cttdew?
+Ad_+ '}Uj
oo
— -90 +30 + —~20X30
T
oo
= Jo-¢C ;H‘/' LNerease

Imm 'FTW X (!oo—kiwowzzz,e

sol:

:FLY\QITM
1006
Tnbial price x(ioq )___ Li¢
o0
T P = L’OO {
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Q. 22A/ru.mzb_vzu#m.dem.eaa.zd,&y 60% then 40% wWhAhat io the
met chamnge im the price of the suganre

sal:76 ¥ DECREASE

Q. 23TAR Fyukyax%(xzoi41AIZcLe.uucua.Lvuz&ezuazzi:@szs:%. Laten the mew
price was decreased by Ru Y the lateal price ad RA. I
themn the origimal Price uad?

10000
* 10000-R?2

Q. 24 The price of milk is imcreased by 20% and agaim Ly
30%. BQWWMWMWWW price of
itk 00 ab to restore the origimal price?

35
50135;(%

MARKS BASED QUESTIONS
Q. 25 katrima requuiied 33% rmarka o pasd .an eocarmimaliomn bl
2he gok omly 21% marks and waa declared fail by 18 marka.
eind oul the total mmarks of the eoscamimnalion?

DAL . - Twacek 3.5«/ Povcarie! " ‘/
o tetal mark of 2 o1 °°/-
L’)Lx 20/ + 18 —l) xba:i,:“/ ) i [ I
Al i e~ I
W x33/) - Xx21/ = \Paw‘ﬂa
/o=
rLx 12y 2 127 =13
% = 18 x Joo = 150 £ =18
12 IEA
j_oo\/, :._\_§_)<\bo —
|2
et '50 MQUkS'
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Q. 26 v a leot a student got 25% marke and failed by 3o
marka. mffm,a.aonemrmaﬂzm,aﬂzdwrgo 35% .and
Awumdso/rrw/mnmxvta.t/wmp ks, what the

Mwmwmmmw

— D/.ULZ.MCG/)?‘Z? ( 'LS‘/ 16/ /35/ IOD/'

ro\/ —Co l , H3°___),
1. = 6 Pm“ﬂ”‘”‘""
(oo} = oo = Max Pass marks

Pass Marks = €00 x 257/.+30
= xt +30

¢oo
180 4 30‘/
Pass fexcmtaac = Qf"'x loe = '
cn.27vna/nzacamwnaaom.amnuﬂdatemu¢ar,azwz 35% IMarkL
Lo pasa Acandidate, who gets 100 marka, fald by s marka.
eind the mmascimmuum anmarks for the eocarminatioms
sal: 300

Q. 281N a Leok a sludend gol 35% marks amd failed by 25 marks.
vn the aame teak amother studemt golt 48w smarke amd
Lecwned 20% rmarkds amore than the easential mimirnmuuvm
PaLs smarks. The anaximuwm pass /marks for the teat
uLere?

sol: 500

INCREASED OR DECREASED PRICE:
Q. 290we Lo an imcrease of 20% im the price of apples, a rmamn
cam by s kg apples leas for Ra. e00.Find owut the

differemce belween presemt plice and origimal price?
: H. Tyvdek !
é‘giitf Pyegent —*yu.ca too €
Inum e fer Ldame. ,éc&exnoqziptf& | Ouant: :
Cvta 20/ ='5" 56—-_3_-_ arge 4n

5 &g »a,wlu ¥oh = 126%- LooE = g0 E
Pyegerit vake = 1J‘~g apble vake =120 -24E Parew\ta(ta =30-5=25
Tnibiol price = 20%€ B TImibal f”“‘ = éoo( _920€ |

Digfevence b w eLent T«LCQ Q'ni P egenk Price = éoo? VLR
s W t = 2»: 20 =4 € f
%ﬁrma = 9_H- 20 -h&

10
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Q. 30A reductiom of 25% im the price of rice emables Rampyar
Lo buy Lww kg more rice for R, 240, The reduced rer kg

PAce of Nice La?
sols PrLee afManti
a5/ = L (V) 2 kg e (1) chamge in qfuionds
g éj(—a?i“' Ll aw,uontllﬂ hd

Pw%&ﬂta(uonblazéka'rikj—'—gka.
Reduced f:zr‘wz/PtM»mt price = ?_g& = 30%

Q. 31 The goverrvment reduced the pmlceoﬂ(/u;c.e.ozlauéwﬁbg 10%.
agrhzaa.commm,cam.b.y s.zkgnmua.uga.a{ojz R&. 837.
The reduced price Pmkéz,a/m{n/dg,é/rwj pAlCe P.e/tkgﬂal,ouém/z
Leparatelys arer

sol:13.5 AND I5

Q. 320ue Lo am increase of s0% im the PrCe of The egga, 4 effo
Lleas are available for ra. 4s. The presemt rate of eggs penr
dopem La?

sol:72

11
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VOTER BASED QUESTION:

Q. 33 .an electiom, there are tuw candidates, ome candidate
gets s2x% of the total rmotea amd wom the electiom by 2640.
Tell the total mo of motes amd howt mamy motes does Looer

gel?
Sak; Let total we. £f vols ave o0
yo\ vadm 18 L60'/ 4m M
sgY A8/ 9 Ao witnmer mad: 5%/ ﬂ“’—*\
N Apdas uadl C|oo—52);L|8/.
WY =2¢410
17, = céo

Telal Volis |00y = 66000
V atus Ub'}bw - {6oxUB8=31680
Q. 34 - an electiom, there are ftuwo candidates, 10% nolted
are found inwalid amd wimming camdidale gels S4% of
total motes amd wom the electiom by 900 moled. Them fimd
the tolal mo of motes casted andhow maryy were the roltes
sal:
let totall Voltis vare 100
100
Tts»tnLVs'tu—loo‘/,=5ox\00:5°°°‘L— 07, = Tmvaltd Volis
W Lvmexg Vekas = 54 x50 =270° qe \
s (do-54)=3¢/.
N L) = 50
|87 = C{oc v
Q. 35 In an election between two candidates, 75% of the
nolters casl their nolea, ouk of which 2% noles hare
declared imwalid. A candidate gol 9261 nvoles which were

75%0,{I/Le/v,alj.d/u.om. T/w,to,ta.lﬂwoz(/uoww envolled im
Lthe electiom wwab?

sal: Let total Volws ware Loo

12
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joo

J-is‘- valid + Invald velis

35 x98 =435 — Valid voles

o N \ [}
= 43~5)g\°=_[5" =92¢) CGfLVan AN q(,).u,&h,m)
i:.iég‘oo
Teba ns. of vohss envelled 4n = 463 x#5

= J2¢6o00
Q. 36 vn an electiom, these are tww candidates, 20% nMoleld
are found imwalid and wimmning candidate geta 54% Of
total motes and wom the electiom by s60 votes. Them fimd
the total mo of wnotes caated. Aand how mmany were the
sal: 2000, 1080

Q. 37 Thens are tuto candidates im amn electiom. 20%molters didm 't
Laat their nwotes while s00 notes wuere fownd Lrvvalid
uum/rufng,ca/nd(da,tzg,or 60%0,(#Le.tol:al/uaazi/uom and Ae
wom by 8000 noled. Tell the total mo of noles that noltenr
cabled?

sol: 40500

DISTRIBUTED EXPENDITURE AND SAVING:
Q. 38 Anioha spends «ou of her salary om food., 20% om
howse nrent, 1o0x om entertainvment and 10% om
LOMNRLLATCR. %hejzwifngo.arﬂw,efnd.oﬂ(.anmmm RQ.
1500, then Aer Lalary per momth ia?
vadmnﬂ s Looy An Lhelf
Ao Letal &xfemol,ikuv& = ho/ +20/ +10/ + 10/,
= 80\/.
Sa\/fma - Qoo ~80) = 9 o‘/'

g0/ = 1500 (%Lw;n Ln o uestien )

sod:

b= Salawy =
Sa»QQMd = 100/' = :15-00 ' Savb'na + Eﬂ;e,rdihwt

13
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Q. 39 A man spemds lz.sn{mwaﬁgpmww,
3o%p;mwrmmmMWﬁ,mamem RA.
2940 .omly. what i hia total calarsy?

sod: L E H Tydol
a1 L,Q_,t Hlb Aﬂlﬂ LA . i .m '
5'%1%' debuse jax)«.%_ Dwﬂ'ﬂ ex%wm %m
J)cuﬂﬂ exper B “_54% 125" :,%, 3oy ;%'
alary = K- K = 12 '
Re&t%s ”d 8 8 Aod-4 - A&Bi'é;:‘i{)
Expenditure on Houee paimt = 7% x%o 8 8 o
8 .
Ta&t'm&ﬂba::}x_g_‘x Le,tsabzﬂd L8 % ]
ERTY sl 3 x3 = 2940
= 4qx pe 3"‘“*‘3' bt 8§ 10
8o o = Yoo T

2 HI% = 2quo ( Criven inguestio)
8° = L‘80°£

Q. 40 rafud Lpemnda 30%.0 m,uncamm,am,zmtz/w:wrvmm
QO%MWMmmimommmn{th,
60%atﬂizmzmumg/m0ﬂwg,a{teﬁmudﬁa:e€a@aomm
Lpent om houoe kxXfemaied, 20%,ar,U12/m/7ncwrum5c:aaltz/z
Muazm,p_e/nazam,ap_e/ntpmhméwtqumd. Nowt he Lo Left
wuth omly Ra. 448, what ia the tolal imcome?

sol:

Enterdornment Edueakion | House Exbensa | Grist Jiend.
30y = 3 206/, = | ey =3 20y - |

|0 5 5 ' ’To—_

A6:1-3 - 3 Ao-z\—.gl-_:i;l—s;}. - 1-1 =y
Jo |0 5 5 5 =

Lek Lmeome s 9

WxFE, Mo xZ x 4 = H48
1Y 5 5 5

')(.:_ 2500 :E

14
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Q. 4lMr. pradeepn spemds 20%.0f Ais Lolal imcosme om hoube rent
and 70%.at the reol om howoe - hold excpemnaes. \ Ahe caveas
R&. 1, 800. Whal Lo his Lolal imcorme?

sod: 7500

Q. 42 Manioha apends 20% of her walarsy om her chidda
educatiomn, 30%.om family, 25%.om entertalnment.  her
psavimga at the end of a /momnth L& Ra. 1250, then what
armownt does vhe Lpends om entertainiment?

sol: 1250

VENN DIAGRAM BASED QUESTIONS:
Q. 43 vn .a village, each of the GO%D(MnCLLeAfzaauhomda,ca/z,
each of the 3ox families hao a wyundal car and each or
mwmmmgmmmahm'w. vn all
theae are 96 farmilics im the millage. How mamyy famiies
do mnot hawe a honda or fuundai car?
Theye 12 %w“muf,q ashech e oaemaraﬂa. wsed Ay ch. dedmd.
@% A/ Lustions '
AuB L A¥BI-AND
AOB - 4t 14 wealled A infrvdeckion B-3tmeant osth
HJhionag vare /Pm&wd Lorneene
AUB = 4dF 18 walled A Unien B. 4t means dstal me.
ﬂu.ng/!s AOohich QAL wealewdotid Bve i:lum,a anﬂ;d onéa-
AUB= 60 +30—-1|5

sol:

AVB= 35/ — wrho Aave wcars
“people aohs don't haue these tive vCars =|06/-75/-25/
/éew%amm Wre = 259 X9¢ '
= Hque;gi

Venn .,cha,% ram

HJalundﬂiCm’:.%o‘/'

=6o 9“2;3 LHAJ.L{*noLai cay =30-15= 15/
Hond 157, 4s wealeulat
I~ 15 = (/bkﬁ Hﬂﬂd—q

\S7.= BethHmda+HﬂduﬂdnL - and oy H A rdsi

Total Cars bessessed milies —HS /15 +15/ =57,
Familin jﬁnf%amcm; qéx QOT—:s‘/Qz 24
o)

15



